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The following abbreviations may appear in this examination paper

Die volgende afkortings mag in hierdie eksamenvraestel voorkom

g5~ 0nmmpoe

ENGLISH

marginal propensity to consume
consumption spending

demand for bonds

nominal exchange rate
expected nominal exchange rate
real exchange rate

government spending
Investment spending

foreign interest rate

demand for money

supply of money

real money supply

trade balance

pnce level

pnce of bonds

supply of bonds

nominal wage

real wage

exports

output and income level

foreign output and income level
natural level of output and income
total demand

demand for domestic goods

AFRIKAANS

grensverbruiksgeneigdheid
verbruiksbesteding

vraag na effekte

nominale wisselkoers
verwagte nominale wisselkoers
reele wisselkoers
owerheldsbesteding
investeringsbesteding
buitelandse rentekoers

vraag na geld

aanbod van geld (geldvoorraad)
reele geldvoorraad
handelsbalans

pryspeil

prys van effekte

aanbod van effekte

nominale loon

reele loon

uitvoer

produksie- en inkomepell

buttelandse produksie- en inkomepeil

natuurlike produksiepeil
totale vraag
vraag na binnelandse goedere
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Read all instructions CAREFULLY before answering the questions
This paper consists of two (2) sections* A and B.
Lees al die instruksies NOUKEURIG voor u die vrae beantwoord
Hierdie vraestel bestaan uit twee (2) afdelings. Aen B
SECTION A: COMPULSORY (50 marks)
AFDELING A VERPLIGTEND (50 punte) SE HA
\
INSTRUCTION ANSWER ALL THE QUESTIONS O 0 00 12 PR
INSTRUKSIE BEANTWOORD AL DIE VRAE SVE 0 qu @ g
1% S
QUESTION 1/VRAAG 1 (20 marks/20 punte) mq(dftj

Question 1 1/Vraag 1.1 (2 marks/2 punte)

The multiplier effect in the economy results from the behaviour of households Briefly explain
why (2)

Die vermenigvuldigerseffek vioel voort uit die gedrag van huishoudings Verduidelik kortliks
hoekom (2)

* As ncome and output Fises | comsumption Spending
<85 and thiS cauges the demqnoi for gdods to

wereage which, in hufn | 1acreate & 1 Come and du’tp-»t
and conSum pbion gpencling.
-The  process  ombinues hea  mulhiplier e @ect,

. ; 1

CHAINOE EVENTS 0 W aCt—=ZA->3t >t

Question 1 2/Vraag 1.2 (5 marks/5 punte)

Taxes are part of autonomous spending in the goods market model
Briefly explain why a decrease in taxes increases the demand for goods and shifts the
demand for goods curve upwards in the goods market, equal to ¢(T) and not T (5)

Belasting 1s deel van outonome besteding in die goederemarkmodel
Verduidelik kortliks waarom 'n daling in die belasting die vraag na goedere verhoog en die
goederevraagkromme opwaarts verskuif met gelyk aan ¢(T) en nie T nie? (5)

‘It is because fe nibial effed oF a dhange m TaXes |3
on e Aispesable inr¢ of  \wuseholds | whik o dhance
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c""o‘“j* wm A pusalde \ncormg kecause e mece 1S less than one.
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40700
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Question 1.3/Vraag 1.3 (3 marks/3 punte) .07 Lj“

. NG
Explain briefly in words why the net effect of an equal increase in government spending and

taxes (in other words, the balanced budget) will still have a stimulatary effect on the level of
output and iIncome (3)

Verduidelik kortliks in woorde waarom die netto effek van 'n gelyke toename in owerheids-

besteding en belasting (met ander woorde, die begrotingsbalans) steeds 'n stimulerende
effek op die produksie- en inkomepell sal utoefen (3)

« The ceason s that an wreas m  government sperding
has a direct impact en the demund for qoods and”
the \evel of ocubpuil and nceme while o dancen
taved nfFluence e demmand for goody and autput and
woome thesugh  Wgusehold  behaviar  as coptuned by
the cmium g‘a‘cl"av\ function . B
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Question 1 4/Vraag 1 4 (4 marks/4 punte)

By using the two diagrams below show the difference between a decrease In investment
spending and a decrease in the marginal propensity to consume on the equilibrium output
and income leve! in the goods market model (4)

Maak gebruik van die twee onderstaande diagramme om die verskil aan te toon tussen 'n
afname In investeringsbesteding en 'n afname in die grensverbruksgeneigdheid op die
ewewigspraduksie- en inkomepell in die goederemarkmodel (4)

A ney alk pfp‘gg sty stow=,
3 = Sa
1 nEII T et %&!}ﬁ Efg. T > m:

n!die‘“gremvarbrulksgﬂmigdhei T

=%

i

0 Y, soﬂ 9 3, | Yo N

PLEASE NOTE' THAT Tihe ARROWS SHW ING As m GRAPHS
AD A5 in Y ARE UERY 1M PORTANT,

Question 1 5/Vraag 1.5 (6 marks/6 punte)

(a8) What institution issues treasury bills? (1)

(a) Woatter instansie reik skatkiswissels uit? )
« Goverpment [ Natvnal Treasury

- Seuth Afdcan Aeserk  Bank , also Mcepkqlole BINCE
W the H;Sulng q%{nt
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(b) Use the following diagram to illustrate on the diagram and bnefly explain in words why
a decrease in the level of output and income causes a decrease In the equilibrium
interest rate (5)

(b) Gebruk die onderstaande diagram om op die diagram te Illustreer en kortliks in woorde
te verduidelik waarom 'n afname in die produksie- en inkomepeil 'n daling in die
ewewigsrentekoers tot gevolg het (5)

Explanation/Verduideltking
e A deccease i mcome decrengel the dernand Aoy o T

transa ction purpoges.

At e Q‘i-ls‘bf\q interest @te ((,\ dn exest Supplyof M onRY
G\Wt’-ldpl n the €CoN vy becau&e people wish 0 hold less
hocey - brantadion puCpose than hefare .

eto et rid of the exceu mm’?\{ Bnantal  mnoic ket mrh‘_@/\h
buy bonds, concucetntly | the Supphy o oonds (treosuny B0
o\eum omd this mCrngu Ehe poce of beeqsuny
-'l:n\\s) and heace Abe nteredd mte  decreage |

Cheo oF BT s W >Moy — et = L)
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QUESTION 2/VRAAG 2 (6 marks/6 punte)

Use an IS-LM model to illustrate on the diagrams below and to compare the impact of a
contractionary fiscal policy with that of an expansionary monetary pohcy (6)

Maak gebruk van 'n [S-LM-model om die impak van 'n beperkende fiskale beleid op die
onderstaande diagramme te illustreer en te vergelyk met di¢ van 'n ekspansionistiese
monetére beleid (6)

»Conh'actionanr ﬂscal

i

Comparison/Vergelyking _and undecstqading

o answer  this guesbion,  kaowledae, of the policies is

ne cessary . ] ' i '

: o \:rmq Che pom“:S {'uqcthzr , MU ™Ay ctak \ck.Lwn bin 8
Aonn "(W.’. d’\Clm OF Q\-‘&f\h H‘DWC\(QI‘ anowk cing qunc\ fe
‘ED\\swm [{nRS wauld ke nece.mcm and sulBcyent

So Yne “figb  lep it chan o evedh b (denh by factos
Qﬁe&c‘?&é’

(o) Conbrachiaany Fiscal Pulicy .

Guedo Walals G ) = ZL 2 3l o TF > OV 22U
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QUESTION 3/VRAAG 3 (13 marks/13 punte)

Question 3 1/Vraag 3 1 (6 marks/6 punte)

Using the following diagrams, indicate what happens to the level of output and income and
the trade balance if

(n  Exports increase
(w) Government spending increases

(m) Compare the results in (1) and (1) above regarding the level of output and income and the trade
balance

Clearly indicate the shifts of and/or movements along the curves on the diagrams (6)
Gebruik die onderstaande diagramme om aan te toon wat sal gebeur met die produksie- en
inkomepell en die handelsbalans indien

()  Uitvoer styg

(1) Owerheidsbesteding styg

(m) Vergelyk die resultate in (1) en (n) hierbo met betrekking tot die produksie- en
inkomepeil en die handelsbalans

Toon duidelik die verskuiwings en/of bewegings langs die krommes op die diagramme aan (6)

5?5

a1 Governmant[gp dlnﬁiincmas 39 g
R aaboading SR L

Explanation/Verduideliking

[TURN OVER]
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I.mpqd on ou+pu\7 and hcome 10/112015

(b InCreage wn exports G Increue \n Grovernment Spending
%t 74 > 31 GF - 2.F o3¢

®

Inpact on  beaade kalance
(h1ncreos w  expochy () Dnecensevn Grovernoa feending
A = 2453 o A ond Gh > Z1 2 5 1mb 5 N R Weteriaete)
A= N
M”‘“ e(fed of X on NX dony naler
Z o NX (hade boalarce \w povd

Comparnison/\Vergelyking

-In both casef e le‘ of w{‘pui and |NComne C\d)
o Wigher |

+ Ay dcceae v _exports caulks  an i piverent m the

tde \oalqace wktlc an " CRAE® wn gover nirent
Sper\c\tnq cesultt v g deteriacation Of the fade balance.
l ol
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Question 3.2/Vraag 3 2 (7 marks/7T punte)

Draw a diagram of the IS-LM model for an open economy in the space below to indicate
what will happen to the nominal exchange rate If a contractionary monetary policy i1s applied
Explain the impact of this policy on the financial market, the goods market, the exchange rate
and trade balance by using chain of events and/or words (7)

Trek n diagram van die IS-LM-model vir 'n oop ekonomie in die spasie hieronder om aan te
toon wat sal met die nominale wisselkoers gebeur indien 'n beperkende monetére beleid
toegepas word Verduidelk die impak van hierdie beleild op die finansiele mark, die

goederemark, die wisselkoers en die handelsbalans deur gebruik te maak van gebeurtenis-
kettings en/of woorde (7)

e odel.
|s-L!?a’n-mode-:““‘

Explanation/Verduideliking
Trapact on the  Flaang'a) Morket
My = 3 >

Immc’c on Goodd  ™acket A —
A oLl 242
N > I

i
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Tmpact en ?&chqnoy e and tade lbalance

W — caprtd nfuw — B4 o X = NAY:

A SUMA S NRY
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QUESTION 4/VRAAG 4 (11 marks/11 punte)
Question 4 1/Vraag 4 1 (5 marks/5 punte)

(@) Identfy the three factors that impact on the nominal wage in the wage-setting

relationshi € 3
a P W= f. F( u, -f-') @)

(a) Identifiseer die drie faktore wat 'n uitwerking het op die nominale loon In die loonvas-
stelingsverwantskap (3)

M Expected Prrce Level

@ nem plonrent
O inctitubional factos

(b) Briefly explain why it 1s not possible for labour to Increase the real wage through
nominal wage bargaining (2)

(b) Verduidelik kortliks waarom dit nie moontlik vir arbeid is om die reele loon te verhoog
deur nominale loonbedinging nie (2)

+if ldbouc bargain for  highee  aemingl wagef,

firns cespond by ncrewing e price ol Hhus
kauing  the redl wage unchenged.

[TURN OVER]
[BLAAI OM]



1 14 ECS2602
O 10/11 2015

Question 4 2/Vraag 4.2 (6 marks/6 punte)
Use the following AS-AD model to answer the question below

Maak gebruik van die onderstaande AS-AD-model om die vraag hieronder te beantwoord

P
ASy
AS
Py pameeedpmnnmnnanan 3
Py frommm=nies
' AD;
i E AD
0 Y

Y Yy

Assuming that the nghtward shift of the AD curve from AD to AD, is caused by an increase in
government spending Explain the impact of this action on the goods market, the financial
market and the labour market in the medium to long run {the movement from point b to ¢) (6)

Veronderstel die regswaartse verskuwing van die AD-kromme van AD na AD, is deur 'n
toename in owerheidsbesteding veroorsaak Verduidelk die impak van die aksie op die
goederemark, die finansiele mark en die arbeidsmark op die medium tot lang termyn (die
beweging van punt b na punt c) (6)

Explanation/Verduideliking
« Queshoo  required mnpact of lache’ 4n the eedigygto
lona cun. ’
« Ttk expcled that you know gt -cun ewend kefoe
Qo sbact b eplan mediden o long cun 2@t -
s Nediuon - -lngaun  stach with  expedded pace level!
o he labour  mrarket
. The {%sllw.;\g was the er?e&td o oswer

A\

|

(

N
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SECTION B: COMPULSORY (50 marks)
THE ENGLISH VERSION OF THE MULTIPLE CHOICE QUESTIONS STARTS ON PAGE 18
THE AFRIKAANS VERSION OF THE MULTIPLE CHOICE QUESTIONS STARTS ON PAGE 27

INSTRUCTIONS

In this section ALL questions must be answered on the mark reading sheet which I1s supplied
Carefully follow the instructions for the completion of a mark reading sheet.

() Suppose a question reads as follows
An increase In the level of production
decreases the level of iIncome in the economy
has no impact on the level of Income in the economy

increases the level of Income in the economy
causes firms to employ less factors of production

P Wh =

The carrect answer is 3 You must therefore mark 3 on your mark reading sheet

(1) Only one of the alternatives per question - listed as 1, 2, etc — is correct You must therefore
not mark more than one alternative per question

(n) For a correct answer you recewve 2/ marks No marks are deducted for incorrect answers

(w) Section B conststs of 20 questions and thus counts 50 marks out of the total of 100

:' E‘ﬂ rvv,.”".lﬂ' 5 ey "‘-‘!-1 g \“‘J“ TR ] -‘.-: g ﬁ. "'1- nﬁn f-u&
ark'readmg hee mayge Ios e You MUS‘[ﬁ orefora also write}you -an _‘rs 1: this"
5'0fiyourieXaminatio answer,book“for D'L (ﬁ 2(3);33( ;' ',tﬁ. t.. '-{i

R S e ﬁu.“‘*fm.a;\'l'i{*u._[""‘; mﬂi By R s S R
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AFDELING B VERPLIGTEND (50 punte)

DIE AFRIKAANSE MEERKEUSEVRAE BEGIN OP BLADSY 27

INSTRUKSIES

In hierdie afdeling moet AL die vrae op die merkleesblad wat voorsien Is, beantwoord word Volg die
instruksies vir die voltoonng van 'n merkleesblad sorgvuldig

()  Veronderstel 'n vraag lees socs voig
'n Styging in die produksiepeil
verminder die inkomepeil In die ekonomie
het geen invloed op die inkomepeil In die ekonomie

verhoog die inkomepeil in die ekonomie
veroorsaak dat firmas minder produksiefaktore in diens neem

BN -

Die korrekte antwoord 1s 3 U moet dus 3 op u merkleesblad merk

(n) Slegs een van die alternatiewe per vraag, gelys as 1, 2, ens is korrek U moet dus nie meer as
een alternatief per vraag merk nie

(m) Wir 'n korrekte antwoord ontvang u 2% punte Geen punte word vir verkeerde antwoorde
afgetrek nie

(v) Afdeling B bestaan uit 20 vrae en tel dus 50 punte uit die totaal van 100

R R g 305 S GRSt s (] e | L ey, ST
i A adiad U MOE T 8 S5 a1 o rad Sl ol op HASRY, 35
.Ji,rfwe samenantwoordboek neerskry __;'blévioo':‘ 'd?1(ﬁ~)::?'2(..’? 13(1);, ens il s f'g,;;;i"'“:;'-;»ﬁ
e T N e e g X8 ]
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SECTION B COMPULSORY (50 marks)

e 7} S H e
i,];hEe*;'{fmque umber?for} CSZBPQE!;.' 98796
Rt B RS T |

1 Which of the following statements with regards to the consumption functon C = ¢, + cYp are
correct? ]
J

A change in the marginal propensity to consume will result in a change in consumption
A change 1n income will change the marginal propensity to consume +

A change in consumption will cause a change In disposable income *

Co and c are the exogenous vanables in the consumption function

Yp I1s the endogenous variable in the consumption function”

Onlya,dand e
Onlyb,dand e
Onlya,b,dand e
Onlyaandd

a b,c,dande

m-hmn@ PcaooD

Question 2 i1s based on the following information regarding a goods market model for a closed
economy with a government sector .
36D — 62

06 ____'_,. | ) f‘2>0D+

c =
¢ = 400 LR e
T = 300 | =0 6 é[@,
G = 300 - Q 5 /
T =100 o _
= 2. 350
2 The multiplier 1s equal to and the equiibnum level of output and iIncome 1s equal to
1 6 5 640
2 257 2 500
3 4 3 840

6 5 400

@ 25V 2350V
b}
i

3 The impact on the equillbrium interest rate of an increase In income with simultaneous
expansmrBry open market operations by the central bank 1s
\

1 a lower equilibrium interest rate
a higher equilibnum interest rate
@ uncertain (the equilibrium interest rate can be higher, lower or the same)

[TURN OVER]
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Question 4 1s based on the following diagram

M

4 Which of the following statements is/are correct?

If the central bank wishes to increase the interest rate in the economy it sells bonds on the
open market and the M® curve shifts to the left Vv

If the central bank wishes to increase the interest rate in the economy it buys bonds on the
open market and the M® curve shifts to the laft

The demand for money function (or M® curve) will shift because of changes in the interest
rate and there will be a movement along the curve because of changes in iIncome

The demand for money function (or M? curve) will shift because of changes in income and
there will be a movement along the curve because of changes in the interest rate j

aandc
aandd :/
bandc
bandd
Only a

[TURN OVER]
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If the financial market s in a iquichty trap

monetary palicy Is ineffective in bringing about a decrease in the interest rate

a
b financial money market participants are willing to hold less money at the same interest
rate °

a decrgfse in the interest rate can be brought about by buying of bonds by the central
bank

c

d there 1s a high demand for bonds ~ . g\p_ 5} 2 b + F’)T‘G"Fﬂ(" l:) m(f&') )
@ ou: FUL, feer capitel b9

ly F pe ,5)12 D re:;&‘ hol O'r”? Pl

5 b,candd S pz'}Lf"—j lofels

Which of the following statements i1s/are correct?

a  Todenve the IS curve, we change the level of output and income to determine the effect
on the interest rate

b To derve the |S curve, we change the interest rate to determine the effect on the demand
for goods

c To derive the LM cury. we change the level of output and income to determine the effect
on the interest rate

d To derve the AD curve, we change the price level to determine the effect on the level of
output and income v~

Only a
Only ¢
aandc
a,bandd

1
2
3
4
@ b, ¢ and d h\.(_/b)“
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Question 7 1s based on the following diagram

!

IS¢

7 Which one of the following statements 1s correct?

1 Goods market equitbnum exists only at points a and b

2 At point c the level of autonomous spending i1s lower than at point a

3. Atpoint ¢ the level of autonomous spending 1s the same as at point a
@ At point a the demand for goods 1s lower than at point b

8 Which one of the following statements 1s INCORRECT?

1 The steepness of the IS curve depends on the interest senslh/vlty of investment spending
@ and the output and income sensitivity of investment spending’

The size of the mulliplier and the income sensitivity of the deri’ngnd for money are factors

that will have an impact on the effectiveness of fiscal policy

&\wu@ A relatively more inelastic 1S curve indicates a greater interest sensitivity of investment
gty spending A

4 “Crowding out® of investment spending will occur If the output and income sensitivity of
investment spending I1s low and the interest sensitivity of investment spending 1s hig
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Study the following LM curve and answer question 9 that follows

9 Which of the following statements is/are correct?

a At point a the demand for money 1s higher than at point b ¥
b At point c the money supply i1s higher than at pointa x \//
At point a, point b and point c the financial market ts in equilibrium

O

a,bandc
Only a

1

2

3 Onlyb b
C5:) g:[l;;:andc Owﬁﬂ'c b-cﬁd-\j f' PD Vj

10 Which one of the followiig policy actions in the IS-LM model I1s appropriate if the objectives are
to decrease the budget deficit and decrease the interest rate? — ey P G s Wﬁaﬂj PD h f'j

,ﬁ?,i |! 1 An expansionary fiscal policy and an expansionary monetary policy
% An expansionary fiscal policy and a contractionary monetary policy
4
5

I

A contractionary fiscal policy and an expansicnary monetary policy
An expansionary fiscal policy and a contractionary fiscal policy
It 1s not possible to achieve the policy objectives

11 Which one the following statements 1s correct?
The exogenous vanables in the IS-LM model are

*
1 government spending and investment spending
2 :nvelitﬁent spending and money supply

interest rate and government spending

é government spending and money supply
5 level of output and income and the interest rate

¥ ¥
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12 From the perspective of South Africa, an increase (appreciation) in the nominal exchange rate
will cause the following to happen

1 The Rand becomes less expensive to foreigners

2 Foreign goods are more expensive to South Africans

3 Foreign currency 1s more expensive to South Africans

? South Afncan goods are more expensive to foreigners
Imports are more expensive

I

S k/{g*
13  Given the following information 'D)Elo - % O b\,{
\¥g)
o

Interest rate on RSA bonds 6%
Interest rate on USA bonds 9%

Which one of the following statements 1s correct?

1 If it 15 expected that the R/$ exchange rate will be unchanged in a year's time,
financial market participants will be indifferent between RSA and USA bonds

2 If the expected appreciation of the rand i1s 2% In a year's time, investment in RSA
~ bonds are more attractive and financial market participants will buy RSA bonds

@ If the expected appreciation of the rand is 4% In a year's time, investment in RSA
bonds are more attractive and financial market participants will buy RSA bonds

4  If the expected depreciation of the rand is 3% in a year's time, investment in RSA
bonds are more attractive and financial market participants will buy RSA bonds

14 In an open economy the impact of an increase n the interest rate on the demand for goods and

the level of output and income In the goods market can be illustrated by the following chain of
events

@ it = E|l —» Xt — NX|

it— Et— X, — ZL— Y]
3 _ET— Xt— NXt— Zt— Yt
4 11— 1l — 2} - Y] = NX|
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Question 15 1s based on the following information Country ABC i1s facing a recession and an

_unacceptable budget deficit To deal with the budget deficit taxes are raised and to deal with the

/ recession the money supply I1s increased W
\ j - T {-.l
nlan"1s

hep t
2

16

17

1 (efe

Which of the following statements is/are correct?

oo

3

The IS curve will shift to the nght and the LM curve will shift downwards -
The IS curve will shift to the left and the LM curve will shift downwards‘\/

The results of these policy actions are that the interest rate increases, a capital inflow
occurs, the domestic currency appreciates and the trade balance worsens

The results of these policy actions are that the interest rate declines, a capital outflow
occurs, the domestic currency depreciates and the trade balance improves

aandd
aandc

bandc
Only bana d

Which of the following statements is/are correct?

According to the price-setting relation a(n)

a /decrease in the unemployment rate, will iIncrease nominal wage demands
b d

@Aum—- ao

ecrease In the markup of firms, given the nominal wage, will decrease the price per unit
decrease in the nominal wage, given the markup of firms, will increase the price per unit
increase In the unemployment rate, will decrease nominal wage demands

a, bandc Q:’;‘ N C_ I'"\—ﬁ'\)
¥ =

a, bandd
Onlybandd
Only a

Only b

Which of the following statements is/are correct?

The natural rate of unemployment

QTN

j= 1

1
2
3
@
5

Amreases If there I1s an increase in the bargaining position of workers
~increases If there 1s a decrease In the markup

decreases If there 1s an improvement in the protection of workers through labour
_legislation

~ increases If the unemployment rate increases

aandd
b,candd
Onlycandd
Only a

Only b
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Question 18 1s based on the following diagram
P

AS

S E ~.h%

1
[l
‘
]
.
1]
1
'
H
1
]

;
S—

o
=
<

Ys

= v | p.{{, &

18  Which one of the following statements 1s INCORRECT?

At point ¢ the actual price level is lower than the expected pnce'tevel

At point b the output level I1s higher than the natural level of om;_::et::p 20 ‘ g C—v\.—.ﬂ'?-mt

As the level of output increases the price level nses

1
2
(3) Atpointb the real wage Is the higher compared to point a~(
4
5  The AS curve will shift upwards when the expected price level increases

19 The chan of events Pt — (M/P)| — 1t — 1| — Z| — Y| represents the

1 IS relation in the open economy
2 effect of a monetary expansion in the AS-AD model
@ denvation of the AD curve
4  effect of an expansionary fiscal policy in the AS-AD model
5 LM relation 1n the open economy

20 The neutrality of money refers to the impact of a policy which means that
only vanables changes in the AS-AD model in the medium to long run
1 contractionary monetary nominal
contractionary monetary real
@ expansionary monetary nominal
expansionary monetary real
5  expansionary fiscal nominal
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